
1097 1099 1101

0.
00

0.
10

0.
20

0.
30

Bp = 12 line = MAGIC.446 , Chr = 2

breakpoint: 4437996 − 4438946 po−0 bur−0
N = 2   Bandwidth = 0.5847

D
en

si
ty

line = MAGIC.446 , Chr = 2

breakpoint: 4437996 − 4438946 po−0 bur−0

F
re

qu
en

cy

1098.0 1098.5 1099.0 1099.5 1100.0

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0

13616950 13617050

0.
00

0
0.

00
4

0.
00

8
0.

01
2

Bp = 62 line = MAGIC.446 , Chr = 3

breakpoint: 7109311 − 7109348 po−0 wu−0
N = 5   Bandwidth = 17.45

D
en

si
ty

line = MAGIC.446 , Chr = 3

breakpoint: 7109311 − 7109348 po−0 wu−0

F
re

qu
en

cy

13616960 13616990 13617020

0.
0

0.
5

1.
0

1.
5

2.
0



5400 5600 5800 6000

0.
00

00
0.

00
10

0.
00

20
0.

00
30

Bp = 94 line = MAGIC.446 , Chr = 4

breakpoint: 4705706 − 4705716 rsch−4 ler−0
N = 10   Bandwidth = 67.85

D
en

si
ty

line = MAGIC.446 , Chr = 4

breakpoint: 4705706 − 4705716 rsch−4 ler−0

F
re

qu
en

cy

5550 5650 5750 5850

0
1

2
3

4

0 1000000 2500000

0e
+

00
2e

−
06

4e
−

06
6e

−
06

Bp = 95 line = MAGIC.446 , Chr = 4

breakpoint: 4739480 − 4739497 ler−0 bur−0
N = 6   Bandwidth = 3.427e+04

D
en

si
ty

line = MAGIC.446 , Chr = 4

breakpoint: 4739480 − 4739497 ler−0 bur−0

F
re

qu
en

cy

0e+00 1e+06 2e+06 3e+06 4e+06

0
1

2
3

4
5



−4e+05 0e+00 4e+05 8e+05

0.
0e

+
00

1.
0e

−
06

Bp = 108 line = MAGIC.446 , Chr = 5

breakpoint: 11044854 − 11044857 hi−0 zu−0
N = 18   Bandwidth = 1.45e+05

D
en

si
ty

line = MAGIC.446 , Chr = 5

breakpoint: 11044854 − 11044857 hi−0 zu−0

F
re

qu
en

cy

0e+00 2e+05 4e+05 6e+05

0
2

4
6

8
10

1482850 1482860 1482870

0.
00

0.
02

0.
04

0.
06

Bp = 109 line = MAGIC.446 , Chr = 5

breakpoint: 11095464 − 11095482 zu−0 hi−0
N = 2   Bandwidth = 2.631

D
en

si
ty

line = MAGIC.446 , Chr = 5

breakpoint: 11095464 − 11095482 zu−0 hi−0

F
re

qu
en

cy

1482855 1482860 1482865 1482870

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0



23600 24000 24400

0.
00

00
0.

00
10

0.
00

20
0.

00
30

Bp = 115 line = MAGIC.446 , Chr = 5

breakpoint: 15107666 − 15107672 hi−0 ws−0
N = 8   Bandwidth = 70.46

D
en

si
ty

line = MAGIC.446 , Chr = 5

breakpoint: 15107666 − 15107672 hi−0 ws−0

F
re

qu
en

cy

23700 23900 24100 24300

0.
0

1.
0

2.
0

3.
0

1600 2000 2400 2800

0.
00

00
0.

00
05

0.
00

10
0.

00
15

Bp = 121 line = MAGIC.446 , Chr = 5

breakpoint: 17482311 − 17484850 po−0 ct−1
N = 2   Bandwidth = 121.3

D
en

si
ty

line = MAGIC.446 , Chr = 5

breakpoint: 17482311 − 17484850 po−0 ct−1

F
re

qu
en

cy

1800 2000 2200 2400

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0


